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show that f(x)=|x-3| is a continuous function but it is not differentiablc at
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Using integration. find the area of the region bounded by the triangle whose ireﬁ_ft:es

are (-1, 0) (1, 3) and (3, 2). g
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Find the area lying above the x-axis and enclosed by the circ
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o< A manufacturer ot furniture makes two products - Chairs and tables.
\Mu cts 1s done on two machines 4 and B. A chair requires 2 hours
5 hours on machine B. A table rquires 5> hours on machine A and 2
B. There are 16 hours of tume available on machin§ A and 22 hours
the profit gained by the manufacturer from a chair and a table are

espectively. how many pieces of each of chairs and tables must
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hat the profit gained becomes maximum *

|

o

| . [ 7]
| i

Downloaded from JobAssam.in




— e p— ., W

e

i

BRI Y 1 g~ ;' 1F4[F AL — bl TE FT”WB‘I b 4 TIE B ?’r?m\(\rru -

= —"'_'F""";: il = ; ' l:-
IS EEELE S A5ed 2 90 T (Apd B3 6 TOR ATAE | Dl 2

246 O] IR u’--;}rl B3 2994 ‘?wuL.JrI | G iB A IANI 16 I G5 p s ‘

-_]rl .u. .l'"

_. ‘:1_‘:; ‘:'..,. = ':_ - ._r_r_____ [ .-"'- T
_ i S :'

iy ‘Y ."‘h..{:l‘ R L __-_-l""" —
21T 5 T 9T e o

-~ G e e ’ s i
E Gi<q S99 AT 7 A=l ATR 250 ¢

-

E

Suppase tic s 4re o
(EESE 3Ie 3 ' " S 11 '
e ‘¢ Tour boxes 4, B C and D containng coloured marbles as ¢ o

gy Marble Colour

i
= -
| ™ :J :
| )
| 2
.
fﬁ

]

.
E

d a single marble is draw n from: i1l

One of-thg toxes h#8Been sf:lectﬁﬁ ‘at randon

IF 1he Thle 1 re hat 1z tl- 32
LT;) 50:1; t:; b JL. ha‘u 15 the probabilityl that it was drawn from (1) box A- i
TEEE ey > ‘ _ N ‘ 4
; ! Bl B 0. L NI® D T 357 <5 ‘-ZR,‘TZTQ a1 :,.r-‘fr
!' | «[<9FT ] |
: SI<D qE| (i _-ﬁTj'
A | 3 ’ '
5 0 s ; 1
c | |
b | G : ;
TS & ?--;l.'iaf’-‘-::':f';:--* AR TG T TR AT AT @3 ARDIOR [z == '-.—'.;-.-
20 LIV Z (1) 95 A (1) ]SH B (1i1) A5 C T 2i9] § r;qrr(‘:azﬂ‘-“ﬂrhr ,:‘ o

OR (9%77)

From a lat of 30 bulbs which include 6 defective, a sample of 4 byujbs ; :
@ndom with replacement. Find the probability distributiop of the 1:;u1nbe ; :

bulbg

R fo. B0 P foan CRAT Y S YIRS sy o 250 o
b R — = . .
== ‘: -*_'-r_r Pl r-’fﬂ{: 1.3 I"ﬂ-‘:jl < el ':‘:"E-'I ::E:rl 9] <; ql’t? f'_'-




